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Name 	  Day 1 	 Date 	 
Radical Review 

	

,r4= 	19- = 	vig = 	25= 	36= 	49 = 

	

81-  = 	81= 	Joo-  = 	=I/74 = 

EXPRESS EACH IN SIMPLEST FORM 
1) V12 	 2) .55 

	
3) .41 

4).N[1.5 	 5) VII' 	 6) Vi 

7) VT4 	 8) V50 	 9)'.1-73 

10) -s/T3- 
	

11) ...\rn 	 12)“ITS 

13) 
	

14 .NATZI 	 15) 

EXPRESS EACH IN SIMPLEST FORM 

16) 3.112 
	

17) 5.11i 	 18)4 ,515 

20) 2 V:1-5.- 	 21) 4 -ff7 



Name 
	

Date 
Radical Day 2 

SIMPLIFY: 
1) .N/F7 

   

2) V1E1 3)',■/ 	 4) .108 

5) 3-sil 	 6) 5Vi2 
	

7) 7.40 	8) 2-51 

10) 12 •J 	 11 )  .,r6•,/-§ 

12) 2V3•34 
	

13) 3V11•2J 	14) 3j0• 2.5 

15) (.J)2  

17) OM 



19) VI+ ,N[57$ 	 20) 27 + T8 

21)',■/ 	 22) 3.s/20 +2V475 

23) 7.54-2X 	 24) 2'V-72+ 5 32 

25) 3VT3 + 215-66 +31/T) 



7 17) 
16 

49 14) 5 
20 

Name 	 Date 	 
Day 2 

Homework 

1) -4,[9-g 2) -1 ..s/ 
3 

3) 2 48 

4) -3 50 3 	 4 /— 
5) 

4 
 —v80 	 6) - -

5 
,v150 

8) liri 	 9) 5V767  

10) V51C 3 Y 11) 33,1V—0 5 	 12) 5-si9X 5 14  

13) 6VFX7F7' 

15)-13  
4 

16)2,1
64  64 



Sep 30-8:49 AM 

Sep 30-8:11 AM 

3-5 Multiplying Radicals 

1 	V571 j 	. 	. 	... 

1) Multiply the terms In front of the radical. 
2) Multiply the terms on the Inside of the radical. 
31 Put Into slmolest form, 

V 72 • \AI 	 (3V)2  

____...._ . 

--- 	 , 

Sep 30-8:22 AM 

1) Multiply the terms In front of the radical. 	• 
2) Multiply the terrns on the inside of the radical. 
3) Put Into slmolest form. 

/Distribute:I FOIL 

(2 + V)( I + VS) 	(3 + VI)(3 — O.) .42 + 



Express ench of the following products in simplest form: 

Avro) 	(3 + vra)(i + vs) I (v5 + vi)(v5 - V7) 

	.11111•1111. 

Sep 30-8:51 AM 

'Me length of n sides, of an equilateral triangle is N/3 inches and the length of 

Om altitude, /.is' 	inches. Find the arcs of the triangle. 

Sep 30-8:51 AM 



2706 - 1 - Page 1 
Name: 
Day 3 Homework 

1) Simplify: (4\/- )2 

2) Simplify: Nk) • N/3 

3) Simplify: 3\727 • 21g  

5) Simplify: -flT) • 64 

6) Simplify: 4\/ • If§ 

7) Simplify: 13x • ✓3x 3  

4) 	Simplify: \ig • 13-  
8) 	Simplify: Sac • ✓12a2c 

_8 5 



9) Simplify: Nr.-dry • 'J16y3  

10) Simplify:5.7c3  •4x2  

11) Simplify completely: 2Z(3NA3 - 3h) 

12) Simplify: -A(2Vg - 4i) 

13) Simplify: 2/5-(4 - 3J) 

2706 - 1 - Page 2 

14) Simplify: (4/2-  - 6/3)2  

15) Simplify: (2Z - 3n)2 

16) Simplify: (ill - V--5-)(d1 + V3) 

17) Expand and simplify: ([2-  + 5)(3Nri - 4) 

18) Expand and simplify: 0 + 4)(2Z - 5) 



7005 - 1 - Page 1 
Name: 
Day 4 Quiz Review 

1) Simplify: 4N5 + 3Nr73 + 2N/45 - ITO 

2) Combine and simplify: NT4 - N54 

3) Simplify: 2NS(4 - 3J) 

4) Simplify: 3N/27 • 2Z 

5) Simplify: \a 

6) Simplify: (4/2) 2  

7) Simplify: 

8) Simplify: (2Z - 3\/)2  

9) Simplify: (17 - Ni5-)2 

10) Simplify: (/i1 - NS)(Nril + NS) 

11) Simplify: /2578  

12) Simplify: 3NS6 + 6N/U - 2 75 + 5\5(5 



7005 - 1 - Page 2 

13) Simplify: 6\154 - 3[2-4 - 8N/9 

14) Simplify: N/zi - 27 + 

15) Combine and simplify: 655 - 2\g) 

16) Combine and simplify: N/4 - v571 

17) Simplify completely: 2J(3J - 3Z) 

18) Simplify: v--3-( ri. - 16) 

19) Simplify: .80 

20) Combine and simplify: 4/2-0 - 3\/(1 + 3J 

21) Simplify: 4di + 3478 



Oct 54:29 AM 

Ratlonallzino a Denominator 

To rationalize the (humiliator of a fraction means to write the fraction as all 
(humiliator that is a ration' number. 

Rationalize: 

Oct 5-8:34 AM 

1 TheilhonLaisla.±1Land.. (a. r..1)Largts.alletcodugatei, 
,. 	. 

To Rationalize: 
	 1) Find the conjugate of the 

denominator. 
2) Multiply the numerator 
and denominator by the 

conjugate. 
3) Simplify the expression. 

I 
Rationalize .  . 	3  

2 + ovIg 

What Is the conjugate? 

1 
•11.,....I....“1..7,0.14.13 

Oct 5-8:40 AM 



Rationalize the denominator of the traction 	 3 - 

Oct 5-8:50 AM 



2) 1 
j7 

3  
3) , 

V6 +2 

18 
 4) , 

V3 —3 

Name 	 Date 	  
Day 6 Homework 

5) 	 6) 12 	 12 
 , 

V5 — 2 	 3 —.N/3 

44 22  
7) , 	 8) , 

Is/5 —3 	 2V3 +1 



Name 	 Date 	  
Day 7 

9 	 14  
1) 	 2) 

3—J 	 24+1 

V2+ 4 	 6+ .N5 
3) 	 4) 

4-1 	 4—/3-  

5) 
2V-3- 	 6) 

	

—1 	 4-5j 
24+1 	 7+15 

8) 7) 
4-5k 	 J-J  
7+3J 	 — 

2-15-  -1-3J 	 J.6-8 
9) „ 	 10) 

	

345 — 	 4+ Jo 



8487 - 1 - Page 1 
Name: 
Day 8 

1) The expression 2 
1N5 

 is equivalent to 
2-4 

A) .1 	 C) 2 - Z 

B)  21
+.4 

 1 D) 2 + Z 

2) Theexpression 
4+1 

 is equivalent to  

3+ ■/ 
 i 

	

5) 	The expression 3.4  is equivalent to 
11 , 	7  

A) 7 	 C)  11+64 
11+6,J  

D) 
11-

76
4  

B) 7  

3+. 

	

6) 	The expression 	is equivalent to 

A) 2 + 
	

C) 2 
B) 5 +13- 
	

D) -1 

lj  

	

 
3) 	The expression .1 

+1 
 is equivalent to 

A) 5+f 
	

C) 2 
B) 2 + 
	

D) -1 

	

4) 	The expression ,--71 equivalent to
-  

A) 	
 

.1- 	 C) 7 + 41-3-  

B) 11Z 	 D) 7 -  

./3+,5  

	

7) 	Rationalize the denominator. "3 _ 

A) 4 +1-13 	C) 4- 1-13 
B) 8-4 	 D) 8 + LIN/ 

	

8) 	Rationalize the denominator. ,5 	+f 
A) -4 + 2N/ 
	

C) -4 +1-13 
B) 4 - \/ 
	

D) -4 - 21-13 



34 -1 
12) 313- +  1  

44 + 1 
13)  4f-1 

8487 - 1 - Page 2 
. 	N/TO - 8  

9) 	SimPlIfY' 4+ /M.  
-15-6-  11  

A) 7  

B) - 2 

10) Simplify. 	
- 4 

2  4. N/3 

A 	5 - 4,3 
.1-1) 	7  

B) 13 - 6V3 

C) 2I10 - 7 

D) 5 - 4VT.0 

- 3 
C) 9

-3f D) 7  

4 +,3 
14) 3  

1 1) SimPlifY•40 
+ 34 

 54 +2f7 
13 - 7Vgl 

A) 11 

B)
-13 + 7,/5 

C)
13 + 7,54 

11 
rm  13+7,M.  
L') 	11 

+1 ,5 
15) 

f3 - 2 

Questions 12 through 15 refer to the following: 

Rationalize the denominator and express in simplest form. 



v'2y-1 +7=4 
To Solve a 
Radical Equation: 
1. isolate the radical 
2. square both sides 
3. solve the equation 
4. check in the original 

Oct 7-8:40 AM 

3-8 Solving Radical Equations 

*afg.„ ra11.6F.V, 

( 2)Mf = (5)2  ..= 	_ 
.--2x - 3 -25 

+3 +3  
= 28--  

2 	2 
x it-14 

Oct 7-8:48 AM 

Oct 7-9:38 AM 



Oct 7-10:04 AM 

Oct 7-10:02 AM 

Oct 7-9:46 AM 

x ./6x + 7 = I +,/x+ 5 

Find the value of a such that V - T.03 	= —2. 

What is the solution set of x a  1 + 



Name 	 Date 

Radical Equations Day 9 
Homework 

Rules: 
- Isolate the radical so it is the only term on the side of the equation 
- If the radical is a square root, square each side of the equation 
- Solve 
- Check 

1)ff-  —2 = 5 	 Check: 

2) .N 3X 	= 5 	 Check: 

3) -s/6X — 2 = 4 	 Check: 

4) — 5 = 0 	 Check: 

5) 8=2+V2X-4 	 Check: 



6)-5.)7-1 + 7 = 4 	 Check: 

7) X =1+ VY-75 	 Check: 

8) -00 - 2X + 3 = X 	 Check: 

9) X=1+Jr(7-5 	 Check: 

10) V10-6X +3= X 	 Check: 



Name Day 10 	 Date 
Radical equations 

1)./1(17= X —7 

2) 119X 2  +4 =3X+2 

3) 3 = X + V2X — 3 . 

4) X— 3 = V30 — 2X 

Check: 

Check: 

Check: 

Check: 

5)X-1=5)rn 	 Check: 



6) 5.,1 	= V3X +7 	 Check: 

7), Ai-5 =14 2  -15 	 Check: 

8)-X 2  +8 = 2 ,di' -1 	 Check: 

9)2 X4-8 =3 X— 2 	 Check: 

S - 2- 3 



	

4) 	The solution set of \/3x + 4 = x is 

A) {-4,1} 
	

C) {4} 
B) {4,-1} 
	

D) {-1} 

	

5) 	What is the solution set for Nix + 11 + 1 = x? 

A) {-2} 	 C) {5,-2} 
B) {5} 	 D) { } 

	

6) 	What is the solution set of the equation 
\/5-x+3=x? 

A) {4,1} 	 C) { } 
B) {4} 	 D) {1} 

2605 - 1 - Page 1 
Name: 
Day 11 

1) 	The equation x = \i3xF 4 has 

A) 4 and -1 as solutions 
B) no solutions 
C) 4 as its only solution 
D) -1 as its only solution 

2) 	The solution set of the equation N/2x + 15 = x is 

A) {5,-3} 	 C) { } 
B) {5} 	 D) {-3} 

3) 	The solution set of the equation Nix + 1 - 5 = 0 is 

A) {0} 	 C) {1} 
B) {-26} 	 D) {24} 



2605 - 1 - Page 2 

10) Solve: 4Ng) = 8 7) 	What is the solution set of the equation 

\/x2  - 3x + 3 = 1? 

A) {1} 	 C) {1,2} 
B) { } 	 D) {2} 

8) 	What is the solution set of the equation 
N/- 1 = x - 1? 

A) {3} 	 C) { } 
B) {0} 	 D) {0,3}  

11) Solve: 2iN/7-E- 2 - 4 = 8 

12) Solve by factoring: J3x 2  + x + 2 = J2x2  + 8 

9) 	For the equation ✓x + 21 = x + 1, the solution set 
for x is 
A) {4} 	 C) { } 
B) {-5} 	 D) {-5,4} 

.5- 



Name: 	 Date: 

Review Day 12 

Simplify: 

1) V180 

   

2)  V147b4  3)vr30 + 1/715 

4) --61%,&) + 4:07.g, 	 5) 2V-6-(3\76) 

6) VI( ITS — Vg) 
	

7) 3V2(3 + 1/2) 

8) (5 + V--)2  



Rationalize the denominator: 

9) 5 V3 10) 7 ± -\/5 
7 - Vs 

Solve: 

11) 3 — V2x + 5 = 0 

  

12) 2x = 2V3x — 

13) V3b + 1 = b — 1 
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